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8) A localized group of organisms that belong to the
same species is called a

A) biosystem. B) community.  C) population.
D) ecosystem. E) family.

9) What coefficients must be placed in the following
blanks so that all atoms are accounted for in the
products?

CeHi20s — _ CHO+_ CO;
A)l;2 B).2:2 C)1;3
D)1;1 E)3:1

10) What gives rise to the cohesiveness of water
molecules?
A) hydrophobic interactions
B) nonpolar covalent bonds
C) ionic bonds D) hydrogen bonds
E) both A and C

11) For this pair of items, choose the option that best
describes their relationship.
(A) The number of purines in the DNA strand
5'-AAGAGGAGAAA-3'
(B) The number of pyrimidines in the DNA strand
5'-AAGAGGAGAAA-3'
A) Item (A) is greater than item (B).
B) Item (A) is less than item (B).
C) Item (A) is exactly or very approximately equal
to item (B).
D) Item (A) may stand in more than one of the
above relations to item (B).

12) Which of the following hydrocarbons has a
double bond in its carbon skeleton?
A) C3Hg B) C;He C) CH4
D) C;H,4 E) C;H»

13) Which of the following polymers contain
nitrogen?
A) starch  B) glycogen  C) cellulose
D) amylopectin  E) chitin
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14) Which of the following would likely move
through the lipid bilayer of a plasma membrane
most rapidly?

A) CO; B)anamino acid
D)K" E) starch

C) glucose

15) If an enzyme solution is saturated with substrate,
the most effective way to obtain a faster yield of
products is to

A) add more of the enzyme.

B) heat the solution to 90°C.

C) add more substrate.

D) add an allosteric inhibitor.

E) add a noncompetitive inhibitor.

16) Which of the following statements regarding
enzymes is true?

A) Enzymes decrease the free energy change of a
reaction.

B) Enzymes increase the rate of a reaction.

C) Enzymes change the direction of chemical
reactions.

D) Enzymes are permanently altered by the
reactions they catalyze.

E) Enzymes prevent changes in substrate
concentrations.

17) Where does glycolysis takes place?
A) mitochondrial matrix
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B) mitochondrial outer membrane

C) mitochondrial inner membrane

D) mitochondrial intermembrane space
E) cytosol

18) What are the products of the light reactions that

are subsequently used by the Calvin cycle?
A) oxygen and carbon dioxide
B) carbon dioxide and RuBP
C) ATP and NADPH
D) electrons and photons
E) water and carbon

19) Membrane receptors that attach phosphates to

specific animo acids in proteins are

A) not found in humans.

B) called receptor tyrosine-kinases.

C) a class of GTP G-protein signal receptors.

D) associated with several bacterial diseases in
humans.

E) important in yeast mating factors that contain
amino acids.

20) Consider this pathway: epinephrine — G protein-

coupled receptor — G protein — adenylyl cyclase
— cAMP. Identify the second messenger.

A) cAMP B) G protein C) GTP

D) adenylyl cyclase E) G protein-coupled receptor
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